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HA2PC Ch.3(A2) Review S.Hogan

Name___________________________________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Solve the system by elimination.
1)  x - 3y = 10

 9x - 4y = -2
A) No solution B) (-2, -4) C) (-3, -3) D) (2, -3)

1)

2)  4x + 3y = -40
 8x = -42 - 6y
A) (-7, 4) B) (2, 4) C) (-7, -4) D) No solution

2)

3)  9x - 6y = -3
 5x - 4y =  1
A) (-3, -3) B) (-4, -3) C) No solution D) (-3, -4)

3)

4)  9x - 4y = 16
 5x + 2y = -8
A) (0, -4) B) (0, -3) C) (-1, -3) D) No solution

4)

Solve the system by substitution.
5)   x - 2y = -11

-7x - 2y = -35
A) (-3, 6) B) (3, 7) C) (4, 6) D) No solution

5)

6)   x + 6y = 36
 3x + 7y = 42
A) (1, 5) B) No solution C) (-6, 0) D) (0, 6)

6)

7) x + 5y = 11
-2x - 10y = -12
A) (1, 2) B) (2, 2) C) No solution D) (1, 1)

7)

Solve the problem.
8) A theatre sells two types of tickets to their plays; children's tickets and adult tickets.  For today's
performance they have sold a total of 1240 tickets. Also, they have sold 80 more adult tickets
than children's tickets. How many adult tickets have they sold?
A) 665 B) 658 C) 645 D) 660

8)

9) The total number of cars sold at a used car lot for the years 1996 and 1997 was 1236. From 1996
to 1997 the number of cars sold declined by 158. How many cars were sold in 1996?
A) 685 B) 675 C) 703 D) 697

9)

1



10) In one study the maximum heart rates of conditioned athletes were examined. A group of
athletes was exercised to exhaustion. Let x represent an athlete's heart rate five seconds after
stopping exercise and y represent an athlete's heart rate ten seconds after stopping exercise. It
was found that the maximum heart rate H for these athletes satisfied the following two
equations.
H = 0.491 x + 0.468 y + 11.2
H = -0.981 x + 1.872y + 26.4
If an athlete had a maximum heart rate of H = 158, determine the value of x graphically to the
tenths place.
A) x = 155.3 B) x = 154.2 C) x = 154.7 D) x = 155.0

10)

Graph the linear inequality.
11) -2x - 5y ! 10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

C)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

D)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

11)

Solve the problem.
12) Zach is planning to invest up to $45,000 in corporate and municipal bonds. The least he will

invest in corporate bonds is $6000 and he does not want to invest more than $26,000 in
corporate bonds. He also does not want to invest more than $33,840 in municipal bonds. The
interest is 8.3% on corporate bonds and 6.3% on municipal bonds. This is simple interest for one
year. What is the maximum income?
A) $29,355 B) $3355 C) $22,355 D) $7961

12)

2



Graph the linear inequality.
13) x " -2

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

C)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

D)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

13)

Write a system of inequalities whose solution set is the region shown.
14)

x-10 10

y
10

-10

x-10 10

y
10

-10

A) y ! x + 2
y " 2x + 5

B) y ! -x + 2
y " -2x + 5

C) y " -x + 2
y ! -2x + 5

D) y " x + 2
y ! 2x + 5

14)

3



Solve the system of inequalities.
15) 2x + 3y " 6

x - y " 3
x "1

A) B)

C) D)

15)

Solve the problem.
16) Find the maximum value of  P = 8x + 12y subject to the following constraints.

40x + 80y ! 560
6x + 8y ! 72
x " 0
y " 0

A) Maximum of 96 B) Maximum of 120
C) Maximum of 92 D) Maximum of 100

16)

17) Find the minimum value of  P = 2x + 4y subject to the following constraints.
x + 2y " 10
3x + y " 10
x " 0
y " 0

A) Minimum of 10 B) Minimum of 30
C) Minimum of 20 D) Minimum of 0

17)

4



18) The Acme Class Ring Company designs and sells two types of rings: the VIP and the SST. They
can produce up to 24 rings each day using up to 60 total man-hours of labor. It takes 3
man-hours to make one VIP ring and 2 man-hours to make one SST ring. How many of each
type of ring should be made daily to maximize the company's profit, if the profit on a VIP ring is
$40 and on an SST ring is $35?
A) 12 VIP and 12 SST B) 14 VIP and 10 SST
C) 18 VIP and 6 SST D) 16 VIP and 8 SST

18)

Solve the system of inequalities.
19) 2x + y ! 12

x + 3y ! 15
x " 0
y " 0

A)

x-5 5 10

y

10

5

-5

x-5 5 10

y

10

5

-5

B)

x-5 5 10

y

10

5

-5

x-5 5 10

y

10

5

-5

C)

x-5 5 10

y

10

5

-5

x-5 5 10

y

10

5

-5

D)

x-5 5 10

y

10

5

-5

x-5 5 10

y

10

5

-5

19)

5



20) x + 2y ! 2
x + y " 0

A)

x5

y

(2/3, -2/3) x5

y

(2/3, -2/3)

B)

x5

y

(-2, 2)

x5

y

(-2, 2)

C)

x5

y

(2/3, 2/3)

x5

y

(2/3, 2/3)

D)

x5

y

(-2, -2)
x5

y

(-2, -2)

20)
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Answer Key
Testname: HA2PC_CH3(A2)_REVIEW

1) B
2) D
3) D
4) A
5) B
6) D
7) C
8) D
9) D
10) C
11) B
12) B
13) A
14) B
15) D
16) D
17) C
18) A
19) C
20) B
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